AREA and VOLUME August

1. Calculate the area of the following shapes. (All units are in centimetres.)

(@ ()

2. In the diagrams below, calculate the perimeter of each area.
(All units are in centimetres, and use ™ = 273)

(2) | (v)

- 33cm
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3. In the diagrams below, calculate the area of the shaded region. Leave your answer in
terms of 7. All units are in centimetres.

(a) - (b)

4, Calculate the volume of the following solids. (All units are in centimetres. Use 7 = 3.)

(a) (b)

5. Calculate the surface area of the solid in the diagram below.

6 cm
12 cm

Scm




A swimming pool has the shape of a trapezoidal prism as shown in the diagram.
(a) Calculate the volume of the pool in cubic metres.

{b) Find how far the water level will be from the top of the pool if the pool is three
quarters full.

ABCD is a diameter of a circle. All arcs are semi-circles and AB = BC = CD. If
AD = z cm, find the perimeter of the shaded figure.
(Give your answer in terms of z and 7.)

In the figure above, the curves PRSQ and ROS are both sem-circles. RS is parallel
to PQ and /ROS = 90°. If the radius of the larger semi cicle is 1 metre, find the
area of the shaded region in terms of 7. '
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